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I. CHOOSE THE CORRECT OPTION                                 (1x15=15) 

 

1. The distinguishing feature of communalism is 
a. Followers of a particular religion must belong to one community 

2. Which of the following is not a cause of communalism? 
a. State has no official religion 

3. Which is a characteristic of communalism? 
a. All 

4. What type of unemployment is found in India? 
a. d. All 

5. If a person is ready to work at the prevailing wage rate in the market, but he is unable to find the work, 

then what type of unemployment would it be called? 
b. Involuntary        

6. In which type of unemployment do the marginal productivity of the workers is zero? 
a. Disguised            

7. If new computers are being installed in a company and some employees are fired from the job due to 

lack of computer knowledge then what kind of unemployment will it be called? 
d. Structural 

8. What type of unemployment is found in agricultural sector of India? 
a. Disguised           

9. Frictional unemployment are found in 
a. Developing countries 

10. Social problem means 
a. State of affairs          

11. Which of the following is characteristic of social problem? 
a. It affects on a large section of a society 

12. Which of the following is a characteristic of social problem? 
a. All of the above 

13. Which of the following is not a source of social problem? 
b. Personal development         

14. Density of population is very much related to 
a. Climate      

15. Which is not a type of unemployment? 
b. Agricultural unemployment    
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